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MD0<05+3, 1=MD>

-+ X[ IMDO], 0. SEFFHE, V7 9/ 237 b 1 3CFRLIR, AR Je ¥ IMD]  (ff 003 f5 1T HE )

MD OPERATING MODE
Set 12l alals]e]7]a]alwn][r 0manvFo-a)Band
M| D|P1|P2]| : 1: Sub (VFO-B) Band
Read T2 T3 T2 e T a7 s s |2 MODE 1:LSB  2:USB  3:CW 4FM 5AM 6 FSK(RTTY-LSB)
7:CW-R &PKT-L 8 FSK-R (RTTY-USB)  A: PKT-FM
M| DIP|; B FMN C:PKT-U
Answer| 1 | 2 | 3 | a| s |&| 7] 8] 9w
M| D[P1|P2] :
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2 Fa—=TF— NRIE
MD06<05>

< EfFIMDO6], 0. SFVEFE  GRIFIXIERR)

MD OPERATING MODE
Set 12l alals]e]7]a]alwn][r 0manvFo-a)Band
M| D|P1|P2]| : 1: Sub (VFO-B) Band
Read T2 T3 T2 e T a7 s s |2 MODE 1:LSB  2:USB  3:CW 4FM 5AM 6 FSK(RTTY-LSB)
7:CW-R &PKT-L 8 FSK-R (RTTY-USB)  A: PKT-FM
M| DIP|; B FMN C:PKT-U
Answer| 1 | 2 | 3 | a| s |&| 7] 8] 9w
M| D[P1|P2] :
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PC<05+2, 3=PC>

« < EIF[PCI, 0. 5FVERKE, 17 v 227> 5 3L TF-Re 8, 52 {5 Je8aCF [PC] (fth i fF | HEAH)

PC | POWER CONTROL

Set 1 2 3 4 5 ] 7 [:] 9 0 | P1 000- 255
PlC|PIP|P] ;

Read 1 2| 35| 4|s| 6| 7|89 |w
PlC]| .

Answer| 1 | 2 | 3| a| 5|6 | 7| 8| a]|n
PICIPIF M
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-+« E{5[PCO05], 0. FPFFFE (XAE I3 HEAR)

PC POWER CONTROL

Set 1 2 3 E 5 & 7 & 4 0 | P1 000 - 255
P|C|PI|PM|P] ;

Read 1 2| 3] 4|6l 7|89 |mw
P|C

Answer| 1 | 2| 3| a|s| & 7] &8]|a]|n
PICIPIPIPI] ;.
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« - EIF[PCI, 0. SRR, (V7 v)267> 553 FRE, A5 AL [1F] (fth o5 | T HEAH)

[IF___ | INFORMATION
Set 1 2 k] 4 5 [} 7 3 g | 10 |P1 001-117 {Memory Channel) P2 VFO-A Frequency (Hz)
P3 Clarifier Direction + Plus Shift, — Minus Shift
Clarifier Offset: 0000 - 9999 (Hz)
Read 112131415161 718191%Ip; RXCLAROFF" 1: RX CLAR “ON"
| | F I . PS§ 0:TXCLAR“OFF"  1: TX CLAR "ON
Answer| 1 2 3 4 5 [ 7 & 4 | 0 |P6& MODE 1:LSB 2:UsB 3 CW 4 FM 5 AM 6 FSK(RTTY-LSB)
BRI REARARAAR 7:CW-R 8:PKT-L 9 FSK-R(RTTY-USB) Az PKT-FM
LA T 2 T 0 L B W A 1T PRV ) ?-: m&:&fﬁﬂﬂ%w Tune 3: Quick Memory Bank (QMB) 4: QMB-MT
P2|P2|P2|P3|P3|P3|P3|P3|P4|P5|pg 0:CTCSS*OFF"  1: CTCSS ENC/DEC 2: CTCSS ENC
2|2 | 2@ | 2|2 | s || 2|20 |PTone Number (3 1)
p6 | P7 I PB [ PO | Pa|Pi0] ; P10 0: Simplex  1: Plus Shift 2: Minus Shift
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+ - 5(E[TX1), 0. 5RPFE (AR 1T HEAD)

TX TX SET

Set 1| 23| a|s 8| 7| 8| 9|10 ]|Pl 0:RADIOTX"OFF CATTX"OFF"
T X |P1] . 1:RADIO TX “OFF"  CAT TX “ON"

Read PEN P e R E e L L TR 2:RADIO TX "ON"  CAT TX "OFF" (Answer)
T X

Answer 1 z 3 4 5 [} T & a 10
TIX|P1]
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RM6<05+3, 3=RM>

< EfF[RM6], 0. SFVFEFHE, 1/7 v 237> 5 3L FRElE, 5215 JeHASC T [RM] (fth oD I AfF 3 4R

RM READ METER
Set 1 z|la|lals|s| 7| 8] o|w|P 7O AFIOMETER 24 »FD{uEi—LS
1: 5 (Main) 5: PO
Read 1|23 a]s 8| 7] 8] 8]wn gfgéﬂ:f} 3: ?DWR
R|M|P1]| : 4:ALC 8 VDD
Answer| 1 | 2 | 3| 4| 5| 6| 7| &|3a]|w]|P2o0-25
R|M | P1|P2|P2|F2]| ;

(2000cat_om—j. pdf & v HHy)

TX TX SET

Set 1| 23| a|s 8| 7| 8| 9|10 ]|Pl 0:RADIOTX"OFF CATTX"OFF"
TIx Pl 1:RADIO TX “OFF"  CAT TX “ON"

Read PEN P e R E e L L TR 2:RADIO TX "ON"  CAT TX "OFF" (Answer)
T X

Answer 1 z 3 4 5 [} T & a 10
TIX|P1
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PC<05>

-+ - (5 [PCSSS] ($88:@TDORAZIL TS, 0. 6FPFFHE (AT 1T HER)

PC POWER CONTROL

Set 1 2 3 E 5 & 7 & 4 0 | P1 000 - 255
P|C|PIPM|P] ;

Read 1 2| 3] 4|6l 7|89 |mw
P|C

Answer| 1 | 2| 3| a|s| & 7] &8]|a]|n
PICIPIM|P
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-+ (5 MD0S] (8: D THORAEILFH), 0. 5FpFHE (GRIF 1L IER)

MD OPERATING MODE
Set 1 2z|ala|s|se| 7] a]| a]lw]|P 0 Main(vFO-A)Band
miplpi|rz] - 1: Sub (VFO-B) Band
Read p > 3 A s P 7 3 3 | n P2 MODE 1:L5B 2 UsB I CW 4 FM 5 AM 6 FSK (RTTY-LSB)
7:CW-R 8:PKT-L 9:FSK-R(RTTY-USB) A PKT-FM
M| D|P]: B: FM-N C: PKT-U
Answer| 1 | 2 | 3| 4| s |6 | 7] 8] a]wn
M| D|P1|P2| :
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